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Section A: (30 x 2marks = 60marks)
For each question from 1 to 30, four options are given. One of them is the correct

answer. Make your choice (1, 2, 3 or 4).-Shade the correct oval (1, 2, 3 or 4} on the
Optical Answer Sheet.

1. Which of the following is a non- {iving thing?
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2. The table below shows how some living things can be grouped.

Living Things

- Which one of the following is the most suitable heading for group.)(?_

GroupX Group Y
N bacteia | . . pest
2 fungi - insect
3) micro-organisim . iharmals
(4) animals o . femn




Jane uses an iron nail to scratch a plastic ruler. She observes that there are
many scratches on the plastic ruler.

plastic ruler iron nail

o)

This experiment shows that the iron nail is — than the plastic
ruler.

(1) harder

(2) stronger

(3) more flexible
{4} more absorbent

Which one of the following is the function of a leaf on a plant?
(yu makes food for the plant.
{2) It takes in water from the rain.

(3) It absorbs minerals salts from the soil.
(4} it holds the plant upright to reach for sunllght.

The diagram shows the skeleton of a dinosaur.

We can identify the 1ype of dinosaurs although they had been extinct for many
" years as their skeletons .

{1) help the dinosauss fo breathe

(2) give the dinosaurs their shapes

(3) protect the dinosaurs from injury

{4) help to digest food for the dinosaurs

3




In which one of the following arrangements will the two magnets pull towards
each other?
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Sally is looking into the periscope. There are two mirrors in the periscope.
Which one of the following diagrams shows the correct direction of light rays
that aflows Sally to see the apple?
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10.

Which one of the following is a source of heat?

{1} An unlit lamp
{2} A woollen cap
{3) A metal spoon
(4) A candle flame

The diagram below shows the fife cycle of‘an animal.

adult - ' nymph

Which one of the foliowing animals is likely to have ihe ijfe cycle shown above?

{1) Butterfly

{2) Mosguito

(3) Cocluroach

{4) Mealworm beetle

Matter is anything that has mass and occupies space
Which one of the foliowing is NOT matier?

(1) Milk

{2) Brick
{3) Oxygen-
{4) Shadow




11.  The diagram below shows a guinea pig in a sealed container.

N A

guinea pig .|

pet food water

The guinea pig Is found dead after 1 day.

Which of the following is most likely to have caused the guinea pig to die?

{1) There is not enough airin the container:
(2) There is not enough food in the container. .
(3) There is not enough water in the-container.

wooden cover

(4) There is not enough space Tor it to move aboutin the container.

£l



12.  The following table provides information on four plants, P, Q, R and S, based on
two characteristics. A tick (v’ ) shows that the plant has the characteristic stated.

Characteristics
Bears flowers Grows in the water
Plant P v ~
PlantQ j v
PlantR ' o ¥
PlantS

From the information given above, where should Plant P be placed in the

classification table below?
Plants
|
1 . .
Floweéring . Non—ﬂ_oWering
Ltand { “Water Land Water
-1 7 ] T
A B C D
A
(2) B
{3) C
4) D




13.

14.

The mug and bucket is made from plastic. Which of the following properties of

plastic is important for making these objects?

mug

A Hisstrong.
B itis flexible.
C Itis waterproof.
D ltis transparent.

(i) Aonly (2) Bonly )
{3) A andC only {(4) C and D only

Study the classification table below carefully. The -plant parts are grouped

according to their functions.

Parts of
plants
- !

Part A: : Part B: Part C:
Absorbs water Helps plant io ‘Helps in
and dissolved spreadoutand || repreduction |

mineral salts absorb maximum ' '
. sunlight )

Which of the following represents the plant paris correctly?

A B - ; :
(1 Roots _ Flowers ' Fruit
(2) Roofs Stems " Flowers
{3) Stems Fruits Buds
4 ] Stems Roofs Seeds
8
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15.  Which one of the following statements about the digestive system is not
frue? '

(1) Digestion begins in our mouth and ends in the stomach.

(2) The guliet carries the food from the mouth to the stomach.

(3) The teeth, tongue and saliva in our fhouth help in the digestion.

(4) Undigested food enters the large intestine where water is absorbed into the
body.

16. Study the experiment set-up shown below.

styrofoam board

When magnet X is brought near fo the basin, the styrofoam board will

(1) temainstil

(2) move towards Magriet X

(3) move away from Magnet X
(4) sink to the base of the basin




17. Which of the following will affect the strengih "of the electromagnet shown below?

Fa¥a FAYATATAT2

l

switch P}

= [ron rod

LI
»)

A Number of batteries

B Position of the baltery

C Location of the switch

D The number of turns of wire around the iron.rod

(1) Aonly {2) AandD only
(3) BandC only (4) B, Cand D only
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Study the diagram shown below,
The dentist uses a lamp to see Marc's teeth clearly.

dentist Marc

Which ane of the following shows the direction in which the light travels for the
dentist to see Marc’s teeth?

{1) From lamp to dentist to'Marc’s teeth
(2) From lamp to Marc's teeth to dentist
(3) From Marc’s teeth to dentist to lamp
(4} From Marc's teeth fo lamp to dentist

L}




18. Tom placed two identical toilet rolls with hollow centres in two different positions
directly under the lamps as shown in the diagram below.

Lamp

Toilet roll with
hollow centre

T\ U

Screen A Screen B

Which of the following pairs of shadows would be observed on the screens wher
the lamp is switched on? T

Screen A Screen B

(1) -
(2) o
° -
e

®
O
O
_
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20 An iron rod is placed in the centre of a square board as shown below. Four
similar bulbs, S, T, U and V, connected to batteries, are placed at-each corner of
the board.

Jron rod i:@:T ‘ @ .

Which of the bulbs have 1o be switched on such that the shadows of the
iron rod shown in the diagram above can be formed?

() SandT
{2) SandU
{3) TandV

4) UandV

13




21,

Alice dropped some ice cubes into a basin of hot water. She recorded her
observations immediately

ice cubes

i s meed gdeas bmas A - —— =

i "-__"‘__-‘___";.‘;."'__n.."‘_."_““ """"""" Hot water

Which-of the following observation(s}.isfare correct?

A Theicecubes melted |

8 The water became cooler.

C The water started 1o freeze.

D The temperature of ice and water increased.

(1) A only _

(2) A=ndB only
(3) B, Cand D only
(4) A,B,CandD

14
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22.  Winnie attached a deflated balloon to a glass bottle and placed it in a basin of cold

water as shown below. Afer 5 minutes, the balloon remained deflated. Later, she

placed the same glass botlle into’a basin of hot water and the balioon became
Inflated.

bailoon

glass bottle

giass bottle

cold water ——== - =—hot water

What can-she conclude from this experinient?
{1) Airis a poer-conductor of heat.
{2} The glass bottle is a.good conductor of heat.
(3) The bailecn gains heat and expands to occupy more space.

(4) When air gains heat, it expands and takes up a greater space.




4]

23. A bimetaliic strip is formed when two different metals are joined together. Four
metals of equal léngth were used in different combinations to form 4 bimetallic

strips. The diagrams befow show how each strip bent when heated.

Q N Metal D @ Metal A
Metal A ‘ N

Stri Strin1 Strip 3 Metal B
fh\\ Metal B P e Metal A
Metal G | o Metal C

Strip 2 Strip 4

' Based on the information glven above, which of the followmg shows the
expansion of the metais A, B, C-and D in the correct order?

Expands most . , Expands least
(1 A B C D
@ D A B c
3) c B A (5
@) D A c B

16



24, Yi Wen observed two animals, X and Y, over a period of fime ahd recorded her
observations jn the table below. B,

Observations Animal X Animal Y
Eggs are laid in water, v
There are 4 stageés in its life cycle. v v
It is a pest when in ils larva stage. v
The adult has three pairs of legs. . v |4

Based on the information above, which of the following best represent the
animais, X and Y respectively?

Animal X Animal Y
Ml duck | housefly
{2) ._chicken mosquito
(3) .___mosquito ‘cockroach

(4) . osguito butterfly

25.  The stages of a seedling’s growth are 'shown below. They are not shown in the
correct order.

Arrange the stages of the seedling's.growth in the corréct order.

(1)A, B,D,C
(2) D, C,A, B
(3)B,C,A,D
4)C,D,AB

17




26. The table below shows the properfies of A, B, C and D. A tick () means that the
object has the property and a cross {) means that it does not have the patticular

property.
A B C D.
it occupies space. v N X
It has a fixed shape. X ¥ X X
it has a fixed volume. N ¥ X X

Based on the information given above, which one of the following conclusions is
false?

{1) D canbe compressed.

{2) C does not have mass.

(3) A andD will take the shape of the cortainer.

(4) A, B.GandDare all different states.of matter,

27. Reuben vas given 3.substances. P, Q and R. He conducted some experinients
-and recordad the following observations. '

1 Observations for Observations for Observations for {f
i Substance P Substance @ Substance R
s Boils at 84°C. _ » Boils at 125°C. » Boils at 310°C.
« Freezes at 5°C. o Freezes 25°C. | » Freezes 102°C.
/.

At 100°C, what state would Substance P, Q and R be?

Substance P Substance Q Substance R
{1 - solid fiquid gas
{2} solid ) gas liquid
(3) gas liquid solid
4) gas _ solid liquid
ig



28. A beaker of water was heated over the Bunsen burner continuously for 20
minutes. The temperature of the water was measured at an interval of 5 minttes
over a duration of 20 minutes, The results are shown in the graph below.

Temperature ( °C)

100+

30 4

L

) | | J —
5 10 15 20 Time (minutes)

Which one of the following best explains what happened between points A and -
B on the graph?

(1) The waiter in the beaker was stifred.

(2) Seme water was removed:from the beaker of wiiter.

(3) Some ice cubes were added into the beaker of walter.

(4) The intensity of the flame of Bunsen burnerwas reduced.

19




29.

30.

John set up an experiment fo sludy the water cycle.
ice cubes

water droplets

hot water

John later drew a diagram to represent this water cycle as shown below.

A - B
) ﬁ> Woater droplets

Water . waler
vapour w ’

C

Which option correctly represents the processes of evapora’tibn and
condensation? ' ’

Evaporation { Condensation
{1 | A B
2) B C
3) C A
{4) C B

Ze Yong wanted to cut down water consumption in his home. Which of the
following actions aliow him to conserve water at home?

A Woashing a car with a hose.

B8 Using the washing machine reguiarly.

C -Brushing teeth with the cup filled with water.
D Taking short showers instead of a long bath.

{1) A and B only

(2 CandDonly
{3) A, B and D only
(4) B, C and D only

20
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Section B: (40marks)

Wirite your answers fo guestion 31 to 44.

The number of marks available is shown in brackets [ ] at the end of each question or
part question.

31.  The diagram shows the picture of an insect.

It is classified as an insect because it has certain characteristics, _Which
statement(s) below are true for ALL insecis? Put a tick {V) inthe box next to-the
statement(s)- . - 121

it can fly wath its wings

It has three _bairs of legs

Ithas three segmented parts

it reproduces by laying -eggs

32. Choose the correct words from the box to answer the questions below.

Mouth Guilet  Stomach Small intestine Large intestine

In a human digestive system, name the part where

(a) Saliva acts on the food: _ _ [1}

{b) Digestion is completed: ' . . T

Score” |,




33.  When Jane walks Into the room with the it lamp, she can see the magazine

on the table,
o
magazine on

. table

(a). - Using-your pencil and ruler, draw the path of light to show how Jane can see

“the magazine-. - 1
(b)  Jane can see the magazine becatise it . fight from the
C 7 lamp. 1]
Score
2

N
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34. A metal spoon was placed in a cup of hot tez as shown below. After a while the
metal spocn became hot.

metal
spoon

table

(@) Name the instrument that you can use-to measure the temperature of the hot tea
accurately? - M

(b) What conclusion can you make from this experiment about the properly of heal?

2]

Score




35. The diagram below shows a bottle of cooking oil.

Complete the sentences to state whether the paris are solid, liquid or gas.

(a) PartAlsa : _ S il

(o) Oilisa - - (1
Score

4 2
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36. Listed below in Table A are four different objects (1) to (4).
(a) Maich the object in Table A to the property of the material it is made of by writing in
the numbers (1) to (4) in the column provided in Table B. There should only be a

number for each box in Table B. [2]
Table A . Table B
Objects Properly-_of materials Number
(1) Cottoln' towel Hard and heét resistant
{2) Tyres of lorry Hard and transparent
(3 Windscreen of taxi Abscrbs water easily
.(4) Steel bapéf clips | Has maéngﬁp br‘,opé.ny

{b)  The diagram above shows a truck. The body of a truck is made of materiat X.

Wﬁat is X7.Give. 2 properties of t'his material that make it suitable for making the
body of a truck? 2]

Score




37. Melissa put a plant into a cardboard box as shown below. She then placed the
set-up in the garden and watered the plant d_aiiy. o

(a)  VWhatwill she observe about the plant after 1 week? 1]
(b)  What can she conciude from this experiment? ' (1)
{c)  Explain why sunlight is-important to the plant? [‘i]
6 ‘ Score. -

BRLES



38. Joe sets up an experiment on electromagnets as shown below.

battery P
Wire/
nail/ I:> ’
Setup A Set-ip B Set-up C

He recorded his results as shown in the table.

Set-up Number of Number of coils Number of paper clips
: _batteries . of wire attracted
A 3 —] 20 : 5
B 2 20 5
C 3 _ - 20 .. T
(@) State the aim of his experiment. (|

(b) Without changing the battery in Set-up A, suggest another myy to increase the.
number of paper clips to be attracted to the electromagnet? i1

{c) What is the relationship between the number of batteries and the strength of the
electromagnet? o (1}

Score




39, Tricia set up the experiment and conducted it in a dark room as shown in the

diagram below. o
_ — - —
e
] ~
torch
P Q R S

When Tricia switched on the torch, she noticed that a dark shadow of Ball X was

formed on Sheet R.
{a) ' Based on her observation, put a tick () in the correct boxes. 2}
Conclusion True False . Not-
possible to-
tell

1() |BallXisa rubber ball

L) | SheetS is transparent.

1 (i) | Sheet P and R are transiucent.

}-(v). | Sheet P and Q allow fight to pass
through.

()  if the 4 sheets, P, Q, R-and S, and the position of the ball are fixed and cannot be
frioved about, what should Tricia do to form a bigger shadow of the ball on Sheet R?

m

Score

fos—



40. The purpose of a lighthouse is to steer ships and boats away from cliffs and
land in dense fog or in dark nights. The diagram below shows a lighthotise on
a hill. Boat A is situated a distance away from the fighthouse and it forms a
shadow on the sea water.

" light source

o .
ﬂ% e seawater

surface

{a)- Draw a cross (X) on the surface of séa water in the diagram giveﬁ above to

show where the shadow of Boat A would be cast. I13

()  Explain clearly why the boat casts a shadow. ' 2]
| Score ]

3




41.  Mr Tan used four different materials, A, B, C and D to make four different boxes.
A cup with water at 100°C was placed into each box. Covers made of cork were
used to cover the boxes.

The set-up for Material A is shown below.

_—H cover mads of cork
i o

thermometer

___ box made of Matetial A
<:<’ S

. 2

The time taken for the cup of water to reach room temperature of 30°C is
recorded in the table below.

———t cup of hot water

Material T‘me taken to reach room temperature (mmufes)

A 15.

B ‘ . 10

C . _ .30

D - 42
(a)  ‘Which of the four materials would you -choose to preverit a block of fce from

melting quickly? {11
{by  Give areason for your answer in (a). 121
Score
3
10

(o7



42. The graph below shows the amount of food eaten. by a moth throughout iis fife

cycle.
_o.lk
G

8

°

5 F

]

E .

< /

A B D — > Time (Days)

(a)  Which part of the graph, AB, BC, CD, DE or EF, represents the pupal stage of

the oth? Explain your answer. i2}

{b) Name another organism which has the same ntimber of stages in its life cycle as |

a moth. : 1]

| Score




43. Megan was at the beach. She tried fo pour some sand into a bucket. When the
bucket was filled to the brim, she continued to force more sand into it. However,
the sand kept flowing out from the bucket.

sand

bucket

(a) What can you conclude from the above observation? - M

{b) Megan tells her friend that sand is a liquid as it took up the shape, of the bucket-when
it was poured into the bucket. s
Do you agree wilh Megan? Give a reason for your answer. 21

Score

12
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(b)

(©

Duckweed is a small, green flowering plant that floats on the surface of water.
The National Environment Agency noticed that the population of duckweed in
Clementl Lake had been decreasing over the last few months. They realized
that 4 factories have been dumping waste water into Clementi Lake.

They fook waste water samples from the 4 factories and conducted an
experiment to fest which factory was dumping waste water that was most
harmful to the duckweed. They placed duckweeds in 4 beakers and filled them
up with waste water from each of the factories. They kept the setups in a
laboratory for 10 days. The table below shows the results of the experiment.

Factory A | Factory B | Factory C | Factory D
Number of
duckwesds at the 20 20 20 20
‘beginning
Number of
duclaveeds aftor 10 4 23 13
10-days : z

Based on the data above, which factory has been dumping waste water that
was most harmful to the duckweed? Give a reason for your. answer 121

Based on the data above, which factory had been treating its waste water to

State one pbsSible negative effect of the water pollution on animats living in the
Clementynte . 13

“-- End of paper -
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31)1t has three pairs of legs
It has three segmented parts

32)a)Mouth
" " b)Small intestine

33)a) -\l

b)reflects

34)a)A thermometer.

b)Heat travels from a hotter region to a colder region.

35)a)solid.
b)liquid.

36)a)2, 3,1, 4
h)X metal. It is suitable for making the body of a truck as it is hard and

strong.

37)a)The plant will grow towards the hole ion the box.
b)Plants respond to sunlight.
c)Sunlight is required for photosynthesis to make food for the plant.
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38)a)To find out if the number of batteries will affect the strength of the
electromagnet. . :
b)Increase the number of coils of wire around. -
C)As the number of batteries increases, the strength of the electromagne
increases. °

39)a)i)Not  ii)Not iinF iv)T
b)Tricia should move the torch nearer to sheet P.

40)a) Boat A

[ 1«

Al

b)When the light source shines on Boat A, light cannot pass through Boat A
as it is opaque, thus a shadow would be cast.

41)a)Material D.
b)Material D is the poorest conductor of heat so it conducts heat from the
surrounding to the block of ice slowest therefore I would choose material D.

42)a)Part DE. At the pupal stage, the pupa does not eat.
b)A butterfly.

43)a)Sand has a fixed volume.,

b)No, I do not. Sand has a fixed shape so it is a solid but when itisina
cluster, it would then take the shape of the bucket. It also have a definite
volume, Thus it cannot be compressed.

44)a)Factory B. The number of duckweeds that was put in Factory’s B’s was
water decreased the most after 10 days.

b)}Factory C. The water was treated so the number of duckweed increased
after 10 days.

c)The ducks in the Clementi Lake would get poisoned and die.
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